PI.	ΔNT	FNTFR	PRISES	PRODI	CTION

Cron	Number of	A amag	Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated		8,038.0	825.00	6,631,350		\$3,448,302
Seed - Non-irrigated		8,038.0	1,320.00	10,610,160	lbs.	\$583,559
Cotton (Total)	20	8,038.0				\$4,031,861
FORESTRY						
Pulpwood						
Pine				101,082	cords	
Hardwood				19,902	cords	
Pulpwood (Total)				120,984		
Chip & Saw				25,238	cords	
Saw Timber						
Pine				4,793,908	board feet	
Hardwood				1,822,209	board feet	
Saw Timber (Total)				6,616,117		
Total Pulpwood, Chip & Saw	7,			,		\$13,059,435
Saw Timber FOB Mill						
Total Forestry Stumpage						\$6,068,460
Forestry (Total)						\$13,059,435
FRUITS						
Peaches	*	6.0	200.00	1,200	bu.	\$36,000
Fruits (Total)		6.0		•		\$36,000
FEED GRAINS						•
Corn	10	1,518.0	110.00	166,980	bu.	\$382,384
Grain Sorghum	*	692.0	30.00	20,760	cwt.	\$83,040
Oats	*	266.0	50.00	13,300		\$31,521
Feed Grains (Total)		2,476.0		,		\$496,945
HAY FOR SALE		_, . ,				. ,,
Grass	40	1,000.0	1.50	1,500	tons	\$75,000

PI.	ANT	ENTER	PRISES	PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Units of Production Measure	
Hay for Sale (Total)		1,000.0			\$75,000
HOME GARDENS	600	,			\$180,000
PECANS					
Improved	6	120.0	100.00	12,000 lbs.	\$13,800
Pecans (Total)		120.0			\$13,800
RICE	*	1,212.0	54.00	65,448 cwt.	\$363,236
SOYBEANS	10	4,296.0	25.00	107,400 bu.	\$714,210
WHEAT	10	349.0	30.00	10,470 bu.	\$33,713
TOTAL ALL PLANT EN	TERPRISES				\$19,004,201

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS				26	pelts	\$138
ALLIGATORS (WILD)				150	ft.	\$3,300
HUNTING LEASES	30	210,000	No. Acres		acre	\$630,000
			Leased			
HONEY	*	20	No. Hives	1,200	lbs.	\$1,620
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES					\$635,058

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES Steer Calves 300-400 lbs.			441	head	\$160,246

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of	Gross Farm Value
	rioduceis	Froduction	Froduction	Measure	v alue
CATTLE & CALVES			4.0		4. - 0. 0. 0. 0.
400-500 lbs.				head	\$178,906
500-600 lbs.				head	\$316,575
600-700 lbs.			570	head	\$296,400
Steer Calves (Total)					\$952,127
Heifer Calves					
300-400 lbs.				head	\$115,240
400-500 lbs.			440	head	\$165,865
500-600 lbs.			395	head	\$168,238
600-700 lbs.			345	head	\$168,188
Heifer Calves (Total)					\$617,530
Yearling Cattle					
600-700 lbs.			441	head	\$229,320
700-800 lbs.			503	head	\$282,938
Yearling Cattle (Total)					\$512,258
Cow-Calf Pairs			570	pair	\$410,400
Cull Cows				head	\$183,275
Cull Bulls			115	head	\$84,008
Cattle & Calves (Total)	300	4,559 No. Cows			\$2,759,597
HORSES		,			
Brood Mares					
Show Horses	*	30 No. Brood Mares	10	head	\$30,000
Recreation Horses	10	200 No. Brood Mares	180	head	\$270,000
Brood Mares (Total)					\$300,000
Stud Fees					, ,
Recreation Horses		5 No. Stallions	200	mares bred	\$20,000
Stud Fees (Total)		2 2:31 2:3440	_00		\$20,000
Show Horses	*		25	head	\$100,000

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					
Recreation Horses	600		850	head	\$850,000
Horses (Total)					\$1,270,000
GOATS					
Slaughter Goats			50	head	\$4,250
Stocker Goats			50	head	\$3,250
Cull Goats			15	head	\$630
Goats (Total)	10	80 No. Does			\$8,130
EXOTIC ANIMALS					
Llama	*	4 No. Animals		head	
Exotic Animals (Total)					
TOTAL ALL ANIMAL EN	NTERPRISES				\$4,037,727
CALDWELL PARISH	TOTAL				\$23,676,986